Configure element

Feed shot kWh
Period length = Hour (usage in hour just been)

Period multiplier

Periods ago

Period offsat

Period guantisation True

Period kWh/day False

Use |ast year's data False
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The ‘time window’ is the calculation period, for example between ‘now’ and ‘thisPeriodStart.
The arrows indicate the calculation procedure, and the variables included in the calculation function f(x).

Convert calculation to kWh/day equivalent.
This overcomes the variability in month length, and can be used in general.

‘Use last year’s data’ shifts the lastPeriodStart back one year, for hour, day week or month.
For example this would be the same as a Period Length of a Month and Periods Ago set to 12.

If Periods Ago is Zero, then the kWh returned is for thisPeriod.
if Periods Ago is 1 or more, then lastPeriod is returned.



